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Note :
any Fifty (50).
SeSS
(BHoBH JdrerTren [P,
Direction (Q 1-5):

The following table shows the number of
employees of five companies each with two
departments. The number of employees in
each department is same. The table also
shows the ratio between male and female
employees 1n each department.

Compani Number of HR Dept. {Marketing Dept.
Employees |Male : Female | Male : Female
P 450 5:4 3:2
Q 840 3:7 5:1
R 400 1:3 7:3
S 520 6:7 8:5
T 360 o T:5 2:1

1. Among the given four companies which
company has the highest number of
female employees ?

a) T
< P

B) R
D) S

2. The male employees of Marketing Dept.
of company ‘Q’ are what percent of total
employees of company ‘R’ ?

(A) 66.66% (B) 87.50%

(Cy 12.50% (D) 75.00%

3. What is the total number of male
employees of marketing departments of
companies ‘P, ‘Q and ‘R’ ?

This paper contains Sixty (60) multiple choice questions of two marks each. Answer

& (DY HSod® ©33 (60) Hhevotran. &8N HHH Bok (2) Sy, AJT (50)

Hedden 1 (1-5)

80 2y HBEE 0t Lo Botd Jgrrre
68500 Sogy w¥yto 20A0R. Totd Derrredsd
asﬂ;r{w éoa)?g J3SmS0. Do Degrmestd
Htosven, B a8de Dy AHB Sroe asyo
228A00.

a8fbe |$e358 $50e Dgrro |$8)BoR dgrio
o2l
:Gozpé
HoDw : heo | Hodben : G
P 450 5:4 3:2
Q | 840 5:7 5:1
R 400 1:3 7:3
S 520 6:7 8:5
T 360 7.5 2:1

1. 8o 2dys renid 5op0e™ H Eodss
D& Boggs® Wdrwe affybeoTnd ?
Ay T B) R
(C) P D S

2. ‘Q $oAED SrBBoR DKy HBR
&850 R 0wl Iwdo aslyvod®
Do o ?
(A) 66.66%
(C) 12.50%

(B) 87.50%
D) 75.00%

3. P,'Q, RS0l &r-Bfof Jeerredtd
o HBWY a&%ﬁae}o ot ?

(A) 1690 (B) 350 (A) 1690 (B) 350
(C) 625 (D) 495 (C) 625 (D) 495
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What is the difference between the total
male employees of company ‘T and the
total employees of Marketing
department of company ‘R’ ?

(A) 12 (B) 50
€ 15 (D) 25

What is the ratio between female
employees of Marketing Dept. of
company ‘S’ and male employees of HR
Dept. of Company ‘R’ ?

(A 1:2 (B) 400:520
{0 2:1 D) 260:200

The most important component of
teaching learning process is :

(A) Curriculum

(BY Classroom environment
(C) Learner

(D) Teaching technology

Logic of induction is very close to :

(A) the logic of sampling

(B} the logic of observation

(C) the logic of the controlled variable
(D) the logic of independent variable

Which method of teaching encourages
maximum participation of students ?

(A) Lecture method

(B) Discussion method

(C) Demonstration method
(D) Source method

AR

T £0AE Iwdo HHR 68ven, R
EodestD 3008 DAy Ingo
a&°hos oy &%) PiSo dod ?

A 12 (B) 50
(C) 15 D 25

‘S EoBASN SrTBof DerrD Hiewe
a&’hosH R £o2IEPD Swss Se
i DR a&lybos Sogss K8
o 7

Ay 1:2
) 2:1

(B) 400:520
(D) 260:200

S 5SS (BIBFS (SGosIos
©oHo

A) Doy @HeedS

(B) &858 K8 Seseddemo
(C)  egrgd%

D) &g JodeLs

srS 8o S ¢ods !
(A) (DBBHS 880

(B) $Bdore 850

(©) AHoBS S8 S50
(D) RBolg SEo°8 &850

D Sgae 0368 Dergsge @ﬁavséﬁéz)&
négore @‘Sé‘g&vmo& ?

(B) e 558

 ®) soymge

(©)_ (g 58
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9. Why should you choose teaching as
profession ?

(A) Passion for teaching
(B) Service to humanity
(C) To make easy money

(D} Mastery over subject of teaching

10. A teacher can be successful if he/she :

(A) Thelps students in becoming better
citizens

(B) 1imparts subject matter to students

(C) prepares students to pass the
examination

(D} presents the subject matter in a
well organized manner

11. Hypothesis cannot be stated in :
(A) null terms
(B) affirmative terms
(C) general terms

(D) declarative terms

12. If a student mischiefs in the class the
teacher has to :

(A} report to the headmaster
(B) report to the parents
(C) punish the student appropriately

(D} undertake a case study on the
student

10.

11.

12.

P AT 5B o5 e ?
(A) &S Bt @S0

(B) PSS DS

(C) Dogore Kay) JodrdosEo
(D) &S ddcohost 3"0&6%0

AILrEand [ aargrsaiuTres DesahBoso
oGy JRLod :

(A) a)megd‘%e)o BT R A Soworr
EREPoSTRIE SsPaHHARY

(B) dwghed XX HHolSHd

(€ domgtgen $658° edfen =508
B)o By

(D) DR DRSO QoS

$OBeNIR HEDEIERED Do :
(A) &5 Soeen '

(B) dHAArEE Sre

(C) Aprede Hooen

(D) ($E8S Hrren

$8586°0 Dovgd &8 SHoen IH
BEPERIED |

A) EeSroandd IT8omd
(B) S9SoltheH VOO
©) Sa'gg&) AL Dorre 8Zod

(D) Qoeg B0 K8 eisahso @D 38)
T5erd
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18. T}?e esser}tialff pre-re}?uisite 13. [D8gRHoSHB E AN 038 oFero
characteristics for effective teaching are
given. Arrange these in order of St @n?éé@n ﬁéa’noé’s
priority. &93’3)6)‘)&.
(a) Content competence (@) DR .%%J?éo :
(b) Passion for teaching ®) &S B TPErSo
Love ¢ T (0 wroos® 5D 1 D) Hivosto
(c) ve to work with children Q) s étoﬁéw & @“o‘g)saéo
(d) Expertise in methods of teaching () & (B 5@9@5&»
(¢) Communication skills §s§g .
Codes : (A) (), (e), (a), (d), (e)
(B) (a), (), (c), (d), (e)
Ay (), (0, (a), (d), (o) © (@ (@), ©. ®), @
(B) (a), (), (0, (d), (e) (D) (d), (), (e), (a), (c)
(C) (o), (@), (), (), (@) T U
14. |Bo8 ad) o DOFHEE oo O
D) (D), (), (e}, (a), () L J BEE o
20 ?
(A) od& Fdrlgis seE). odE
14. Which of the following is not the D0,
characteristic of a researcher ? B) o8 F5H80m sobr eDHEHE
o ® £
(A) He is a specialist rather than a SenSess @’3%8&03@&) RE
eneralist o )
& ©) w8 s s IS Sokos’
(B) He is industrious and persistant N iy N —
on the trial of discovery = AR A
© = Lo b ©oAEB0BT.
e is not inspirational to his B
chosen field but accepts the reality D) odd Awrof @@Oéﬁ ‘O%é‘@-
) o sotrd,
(D) He must be an expert in statistics
15. &b Soddre ScHdn) EOAS T
15. Nine year olds are taller than seven year Soddore HaSyy SORS o6 Kol
olds this is an example of conclusion rGen. ab 8o adys TEE® 3D SHok
L %éaox‘;)é Swhosy ?
(A) Vertical study (A) &80 PYers) 6-96550‘5)?60
(B) Cross-sectional study (B) eXess zoiso
[~]
(C) Time series study (C) sl Slal(ert el
(D) Experimental study (D) PIPrEE eiioDso
Paper-I A-00-17
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16, Which of the following is a measure of
consistency ?
(A) Validity (B) Objectivity
(C) Reliability (D) Credibility

17. An example for scientific knowledge
18 :

(A) Authority of a Prophet
(B) Social Customs

(C) Religious Scriptures
(D)

Laboratory and field experiments

18. Sita and Lavanya are older to Swapna;
Suvarna is younger than both Harita and
Swapna. Swapna is elder than Harita.
Identify the correct statement/
statements which are true beyond any
doubt.

(a) Lavanya is the eldest

(b) There are two people who are
older to Swapna

(c) Harita is not the youngest
Codes :

(A) Only (a) and (b) are true
(B) (a), (b), (c) are true

(C) Only (b) and (¢} are true

(D) (a), (b), (c) are not true

16. &oﬁéé‘s AP I8 JobSH :

17.

18.

A) BHETeads (B) dxah g

€) EPIHS (D) IsAS

TRAD PTI8 ST
(4) D88 edstso

(B) &rolus eiroren

(C) o8 (Kogpren

(D) BIrK o, §iF (HRoerren

68, eedeagen I Kol DE; 08,
3o Lol DBE DHO. B 508 Lol
2EB. wond 8o s Fsest 99
BoBHRS 8% BHome BT,

(@) e~Sey @0Bd S0l g

(b) B BoB Higardd A SIND

(¢) 08 woid o8 DYH =

§GEQ ;

(A) ESeo (a), (b) B0

- (B) (@), (b), () o SEDo3S

(€©) SSoo (b), (¢) ¥

D) (@), (b), (0) 0 O35S
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19.

20.

21.

Directions :
In making decision about important
question, it is desirable to be able to
distinguish between “Strong” arguments
and “Weak arguments”. “Strong”
arguments must be both important and
directly related to the question. “Weak”
arguments may not be directly related
to the question and may be of minor
importance or may be related to the
trivial aspects of the question. Question
given below is followed by two
arguments numbered (a), (b). You have
to decide which of the argument(s) is/
are “Strong” and indicate your answer
accordingly.

Statement :

Should the Government close Telugu

medium schools ?

Arguments :

(a) Yes, this will help the Government
to save money on salaries to
teachers.

() No, why should the Government
close Telugu medium schools ?

Codes :

(A) Only (a) 1s strong

(B) Only (b) is strong

(C) Both (a) and (b) are strong

(D) Both (a) and (b) are weak

If the expressions ‘R=U=N=8§" and

‘A>N=D’ are true, which of the
following conclusion is definitely
true ?

(A) A<R
(C) D<S

B U>A
® R=D

According to Confucius the best
communication :

(A) is always silent

(B) uses fewer words

(C) uses impressive words

(D) wuses strong words

19.

20.

21.

AR

Sodden : ‘

éaaaag@_o:’) @’J%&oéo SomohHod ?{)gcﬁﬁe»

Fhogs oS TESw, ‘Dedrd

B30 BEHESE0 sroddanho. ‘el

TS éwaazg@_a:éﬁ 5 od L;)é&és 1586

SoRoErY) ¥OA Gotran. ‘DUSFY’ B

BEE ($855 Boworrl) $DA dorEdRstos®

otn (HHD Vo050 BErErEs SOA

a0k =¥ (HHSND e ddSreS

202050033 aotran. 8ot vy HHH®

(a), (b) Doage Ko Botd aetsden ado

2BR0D. B H FEH/ESen B/

‘:6@_{355 ng)ooi’) J8rerSo HBoiod.

[RHSS0

Benid SGT Srgigd ArBoe [HEHEo

SrHBSer ?

TetiNen

() ©HHD, ad adrrrcine deve oH
(29508 By oY Bood.

b) =, Beord SRR g FbTooD
[©4dek0 Do%HE JPVRATD ?

88y :

(A) Bdeoo (a) oI

(B) Edoo (b) 2030

(©) (a), (b) Bokr oS

D) (a), (b) Bokr 2eIEID

R2U=N28, A>N=D o3 5588500
$E508 8ol ad 88 O Swhod
pFore Do ?

(A) A<R B) U>A

(C) D<S M R=D
EEmERAHS (B0 SERPS SErTE
B0 :

(A) deHB8 dhgor aokd

(B) T Hmrod GIATPAOHO

(C) Barddo Td Soreod eDBPROBH
(D) @S HrodH edBPROBE
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22. A’s mother is the mother-in-law of the
father of ‘B’. ‘B’ is the brother of ‘C’
while ‘A’ is the father of ‘M’. How is ‘A’
related to ‘C’ ?

(A) Brother

(B) Uncle

(C) Cousin

(D) Grandfather

A good speaker is always a :
(A) Good Writer

(B) Smart Fellow

(C) Good Listener

(D) Jovial Fellow

23'

24. What should come in the place of
question mark ?
963+ 560+35—35x6+10= _2 _
(A) 753 (B) 699
(C) 785 {O)y 779

25. Direction:
To answer this question, carefully study
the following arrangements of letters,
digits and symbols.

M72Z8LP@ ?6NBTY32=E%49
©GH5

How many such letters are there in the
above series which are immediately
followed by a digit ?
{A) Three

{(C) One

26. Study the following number series.
What should come in the place of
question mark ?

10, 19, 53, 203, 999, .7

(B} Four
(D} Two

(A) 5969 (B) 5996
(C) 5699 (D) 5669
217. is a quality that will allow

one to understand the mental and

22.

23.

24.

25.

26.

27.

A @BE) ‘89 ‘B’ DwE) ‘$o@'8 ‘ed’
©3Hod. B, ‘C G W5gs ‘A, ‘M
&g Sold. wond ‘A, ‘C& dtoBod
Jdowogo BOA ety ?

(A) R (B) oS
(© a5 (D) &
BrERES H50A%H dgnds
(A) SoorgBs SSows

(B) $HHZS K8

(C) rHES (8%

(D) REIDS &8

@) 0% aodS S trSedS Kogy
963 +5660+35—-35x6+10= _2

(A} 753 (B) 699
(C) 785 D)y 779
SooiSiben ¢

2D BHS SEPTTY) HOOSTIE 2ot
az)‘):\‘; oE0°en, ®oSen, e @éobézéa

PSP ogiedso Bahol.
M7Z8LP@ ?6NBTY32=E$49
©GHS5

2 ahS 36 ESos® $hard wod RN
BETren A aTRow ?

(A) oD B) Trenid

(C) .88 (D) BoH

8o afS DogryEsrd) eghohso ) (<L)
&6} 626&55&: oesiedns ‘ooanéx'n H80tHIw.
10, 19, 53, 203, 999, _?

(A) 5969 (B 5996

(C) 5699 (D) 5669

oS0 BogrEhod $588 Bo20HoDH KSRY
%8&) VOIS IS S5oed8 &Poeund

psychological state of the person we are e)gmo :

communicating with.

(A} Antipathy (B) Sympathy @A) Dddopd B FHre

(C) Empathy (D) Apathy (C) JFF2grd (D) Swogrso
Paper-I A-00-17




28.

29.

30.

31.

In a certain code language, ‘avoid going
out’ is coded as ‘319’. Similarly ‘going
for party’ is coded as ‘612’ and ‘out for
party’ is coded as ‘362". What will be the
code for ‘party’ in the given code
language ?

(A) 3
B) 1
(C) Either ‘3 or ‘Y’

(D) Either ‘2’ or ‘¢’
Etiquettes are inherent aspects of :

(A) Communication

(B) Spoken English
(C) Posh manners
(D) Classroom dynamics

Statements :

Some Apples are Bananas

. Some cats are Bananas

No cat is a Doll

Which of the following inferences
definitely does not follow from the above
three statements ?

(A) Some Bananas are Apples
(B) Some Bananas are always not
_ Dolls :
(C) Some cats being Apple is a
possibility
(D) Some Dolls may be Cats -

Eye-Contact is an essential aspect of :

(A) Body language

(B) Book language
{C) Chinese language
(D) Verbal intimidation

28.

29.

30,

31‘

G

2.8 B8 grdd® ‘avoid going out’ % 319
e Srdodto 2BA0k. &8 JSore ‘going
for party’ & ‘612’ re ddod) ‘out for party’
%0 ‘362’ re SrDODIEONE, 88 HoBS grRd’
‘party’ & JrDod Jogg DB ?

A 3 '

B 1

(C) oowd ‘¥ S 1

(D) ®od ‘2 S 6

'83313“60 (Etiquette) @38 &9 Do)
g wodo ?

(A) JEPTES 1HABo

(B) &Smepd mohid ard

(C) ;DS ss Sgessoren
(D) &858 K6 K8Besen

(SdSToen :

Q) edden 088 Hot

&R Hepen o5& Doty

D Y Fhy _

808 aS BE® D ©5H%S (inferences)

X 2l (BH5STOD pdHBorr eiboiid.

A) B 088 Joiy edden

(B) &) o588 Hory duBE Sspen =

(C) & beyew wdhden oy odse¥o
aod

(D) 5% &°yen Hepen sPdy)

K08 S0l (p-sPoerf) ©ln IS

©IHS wodo ?

A) 088 %

(B) DB g7

(C) I PR

D) =95 BOBOD

Paper-1
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32,

How far is point ‘R’ from Point “T° ?

Statement (I) :

Point ‘R’ is 5 metres to the north of point
‘M’. Point ‘U’ is 4 metres to the east of
point ‘R’. Point ‘T’ is to the west of point
‘R’ such that points ‘U’, ‘R’ and “T° form a
straight line of 6 metres.

Statement (II) :

Point Z’ is 5 metres to the south of point
‘T". Point ‘U’ is 6 metres to the east of
point “T". Point ‘M’ is 2 metres to the
east of point ‘Z’. Point ‘R’ is 5 metres to
the north of point ‘M’. Point ‘R’ lies on
the line formed by joining points ‘T" and
.

Codes :

32,

‘R Do T Hotnd L0o0d dod Srdost
@od ?

o (1) :

R Dotz ‘M Dot eg50s® 5 ey
ErSos® @od. U Do ‘R Dodd
RGNS 4 Dol BErB8os® ¢od. T Do
R DotHHH HHErS Yotoden ‘U, R,
T en 6 e HE¥CPH Erdrohod dkore
aob.

FEgse (ID) :

Z BothP) ‘T Do B8 5 ooy
&r8od® @od. ‘U Dot T DooH
Ergyd 6 ooy Ersos® aod. ‘M Dot
7 DothHB EPENS 2 HbE Ersods
408. R Dothsh ‘M DodoH asoed
5 ey Ko’ dod. R Do 38 ‘T
Bothyh) U DothHo Lendire 58S Bep
God.

(A) Statement (I) and (II) are g8 -
independently sufficient to y
answer the question. &) aNs PHES SSreeso FOBoSEO8
aesgsn (1), (II) en dggoigorr
(B) Statement (I) and (II) are together $85s8on.
required to answer the question.
(B) =3 BHH Idrgrso fphlaloRalagiyl]
(C) Statement (I) alone is sufficient to @, (IT) asgen Bolr eBHD.
answer the question while > =
statement (IT) is not sufficient to (C) ad BHDH Jirerso HYoSEeRS
answer the question. g0 (I) 30888008, wond
g (II) JoRschare S,
(D) Statement (II) alone is sufficient - -
to answer the question while (D) aa‘—)é @'aé-é) ;o?rry;éo fogodeeRs
statement (I) is not sufficient to oEgn (II) 5888808, wond
answer the question. TEgEn (T) oD Beh.
Paper-I 11 A-00-17




33.

34.

35.

36.

If it is possible to make only one
meaningful English word with the
second, third, sixth and ninth letters of
the word REGULATOR (using each
letter only once in the words) which
would be the second letter of the word
from right ? If more than one such word
can be formed, give Y’ as the answer. If
no such word can be formed, give ‘Z’ as
your answer :

A A (B) G
©C Y Dy Z

Lateral communication is between :
(A) Supervisor and other subordinates
(B) Equals

(C) Subordinates and superiors

D)

Plain workers and Supervisors

The positions of how many digits will
remain same if the digits in the number
49276381 are arranged in the ascending
order from left to right ?

(A) None (B) Three
(C) Two (D) One

Which of the following is correctly
matched ?

(A) Kidney damage is caused by spores
and pollen

(B) Eye irritation is caused by fluoride

(C) CO, causes damage to Kidney and
Liver

(D) Depletion of Ozone layer in the
stratosphere will cause skin

cancer

33.

34.

35.

36.

AU

REGULATOR o3 20/ 3506° Bois,
BorsS, 8BS, FEH 5T wEIT
SHRPADE, EPIPOBOND ©BSosS &8
2.8 H506® HE Lod Tosd w¥to P
&otn0d. 2.8 I @ V5TOH BHAPACD
2ETREE LD ©ES0EFD Soren
SPoBOSKONS, Y & d JFrgeore
sobogod. & ool addrAod
SEHOETH HED> ErRroBoSBENE LD
o $Ewgesorr HBoBod.

a) A B G

© Y ® Z

G SEPTPE (PG 26N

(A) éééc'ﬁé‘é:cﬁ), Do Depod gy
B) Vdoenge 308%

(C) D dod, D whHs*0 éocéeg
(D) Dye> SOy, DB g

49276381 o3 JSoggs™ woBodH XD
5008 HA8 6t%ren [Eos® by I
©08v FTred Froe ev Goerow ?

(A) DB eoXd (B) Hor
(C) Bo (D) .58

8o adys HE® SO SHON8B

@) 23 deren, DANE Tewrden 843
Sgio SDAFOD

£BE 5¢6° ot EOAKD

CO, 8&yoth, sBSrdE $Y,
50A00

Brestiyonse® s8°5 &8 fnd 3G
o0 EDAR0H

B)
(C)

)
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37. Which one of the following is an

example of secondary pollutant ?
(A) CO, (B) CO
© S0, @) H,S0,

38. “There shall be equality of opportunity
for all citizens in matters relating to
employment or appointment to any

office under the state” is assured by :
(A) Article 15 (B) Article 16
(C) Article 17 (D) Article 14

317.

38.

39.

e sPend)y P8P8 SRS ¢
(A) CO, (By CO
€ 80, (D) H,80,

“54hes eddost 50 FD STgocirest
ésﬁsame.n, QIS0 FPHeos68 HmS
©HsPTeotron” @ D HG

(A) of¥8wmo 15 B) oHE8mo 16
(C) ob88wmo 17 (D) obHEdmo 14

Dende g)éém wodI I8 &wﬁg@:ﬁ

39. The best method of imparting value SG8
eucationti®: @) asBsosgo  (B) sgEmo
(A) Preaching (B) Pursuading ©) e D) $5r0E5
(C) Role playing (D) Modeling
40. WWW o338
40. 18 (A) e—soéc;oo _
(A) Internet
(B) Hogrlosalds o) SSrStoren
(B) Al the connected networks
(C) JISrStorest 2,88
(C) One of the networks
(D) 2.8 SarNes
(D) A document -
41. 5% B8 DD Soten :
41. Plant based pesticides : o STEE D o
(a) Parathion (b) Aldrin (@) >oRairS ®) @@S
(¢) Neem oil (d) Nicotene (© I8 (@) RSES
Codes : 56&13 : |
(A) (a) and (b) (A)  (2) 3o8ck0 (b)
(B) (b) and (c) (B) (b) S0Bc5w (c)
(©) (c)and (a) (C) () Hdcs (a)
(D) (c) and (d) (D) (c) SBcsw (d)
Paper-I 13 A-00-17




42.

43.

44.

Which of the following are true about
the functioning of UGC ?

(a)

Promoting and Coordinating
University Education

(b) Framing regulation on minimum
- standards of education
(¢) Disbursing grants to the
Universities and colleges
(d) Giving affiliation to the colleges
Codes :

(A) Only (a), (b) are true
(B) Only (a), (c) are true

(C) Only (a), (b), (c) are true
(D) {(a), (b), (0), (d) are true

Air borne pollutants that cause Asthma
and Bronchitis :

(a)
(@
Codes :

(A) (a)and (b)
(B) (b) and (o)
(C) (a)and (¢)
(D) (b) and (d)

(b)
(d)

Pollen grains Mercury

Bacteria Lead

The Focal Theme of Indian Science
Congress, 2018 is

(A) Science and Technology : New

Horizons

B)

Science and Technology
Reaching New Heights

Science with Human Face

(9)
(D) Science and Technology

Reaching the Unreached

42,

43.

44.

R R

8ots adys &6 UGC Hheod Soxofod
DEGTID D9 7

(a) DIRDTgO Do [©FS8roiio,
dHodgeho Baho

505 ey Srero Krdrobosio

é@aew, 3)%5&)5"50053"053 Do
Clelaletalals

(d) Esvzrood @;633363&5263 aég.ﬁo
s :

(4) Sdeo (a), (b) SS5H»

(B) B0 (a), () 5w

(C) oo (a), (b), () Desw

D) (a), (b), (), (d) Jgw

(b)
()

w3 e, |@roSB88 £0A0d3 MOS™D
SPeagen

@ A Bewdeo (b)
(© erfocse @
§*g :

(A) () 300350 (b)

(B) (b) B0 (¢)

(C) (a) HBA3® (c)

(D) (b) B35 (d)

FPEB30
&80

2018 Bo5E)BoE® 267 rBD Xy SofR
Sw¥) (SR adHgo !

(A) TR PoEBES : B°Y bozew

B) & FoBBEE : Y 3pvrol
B6sPsso

&) D8 Fwrgol DO
B APoBRES : [ O BB

©)
)
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45. GPRSisa:
(A) Wired Communication Service
(B) Computer Programme
(C) Cell Phone Device

(D) Wireless Communication

46. ITES stands for :

(A) Informatlon Technoiogy Engaged
Systems

(B) Information Technology Enabled
Systems

(C) Information Technology Enabled
Services

(D) Information Technology Entry
level Systems

47. One of the following is not a social
networking sites :

(A} Facebook (B) Notebook
(C) Linkedin (D) Twitter

48. Which of the following is not matched
correctly ?

(A) National Academy - Hyderabad
of Agricultural .
Research
Management

(B) National Institute - Bengaluru
of Mental Health
and Neurosciences

(C) Directorate of - Bhopal
Forest Education

(D) Central Institute - Ranchi
of Psychiatry

45. GPRS ©38 :
(A) Sod 38 SErTS (B DY
(B) éo‘f.g)véeoS &8rro
©) DS 56550
(D) Sold 82 ISP (HIGo

46. ITES &r9038 :
&) 3RS Beyed JoRSE 235
(B) aRIS Bsyed e BHSH
(C) aéq)ﬁéqs Bsmed Q3w5 e
D) aTS Bsmed o8 858 )

47. 8ot ad FBE® FEPAE SEPB0 08

26 ?
(A) DD (B) S%¢5enk
(C) ©oERS D) 65%5

48. 2o aQ)S ;AS* KB 2855396 56 7

A) I53S ezl of - 3rsoeers
oSS 855}
IS0

(B) 555 aderssS -~ BoXerd
@ DobrS S &
SmsEPR3)D

(C) ZOE0S oF o] - 5553%5
aci:pséqs

(D) Doles BAPOTIES - To0D
5 Daasm(S
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49.

O G A

Whic1}11 onehof ;hedfollowing 18 c?ni?.lide}:ed 49. 808 = TR PESBEEED &S DS
as the thir imension of higher
education in India ? Somofod f‘aéoﬁo ‘31'6‘535‘33
(A) Teaching (B) Research FrotHEYB b ?
(C) Extension (D) Training Ay &% (B) £68%5%
: (C) DJBes (D) BEes
50. Which one of the following is the source
of agricultural pollution ?
(A) 802 (B) Fungicides 50. éé:)@‘()))é S“Ql)a“ég)é @@60 :
(C) H,S (D) NO, (A) 8O, (B) $HoARE)
(C) H,S (D) NO,
51. Which of the following is the most
appropriate definition for computer ? ” —”
(A) An electro mechanical device that 51. %06 aﬁ)&;ﬁméﬁé‘s éo%é)gé) RES 35‘5;5;60
processes information 0 ?
(B) Natural language processing Q) JdroTool D30T a8 DS
© glachlnef BPOBE HBEBO
n information processing o y
electronic machine (B) e grar e abolgo
(D) All of the above (C) Draroed) HBNOD DS aolEo
| D) 25y
52. In the figure below, the ‘circle’
represents Boys, the ‘triangle’ ‘ , . ,
represents Players and the ‘square’ BRI a@?ﬁﬁ do ea‘:e:oé:ﬁ:, B4beso
represents Rural. What portion sbmMFHd, ‘LLdSo e oeedo
represents Rural Sports Boys ? Ledow. wowd 2 grRo [[Pm arend
SETA Srd%08° HBoP0A.
B\C
L%: B\C
F L%
A) E ®B F F
C D (D) B (A) E (B) F
. . _ G D (D) B
53. Which of the {following 1s a
disadvantages of ICT ? . .
(A) Fastest dissemination  of 53. 808 ad 86 Db ICT @H8srod ?
information (A) SdworoeR Iorr eghoHEahEo
(]é) \gorld becommgda global 1v111age (B) [BHoiso a8 FRPDE rdore Se5E0
. troni
(&) S:::;ors spreading at electronic © o8 8)&6)55 Sxosh 53‘3330660
(D) Learning at one’s own pace D) §°.S<553 @gé’éé’ Sienre wgfiRosto
Paper-I 16 A-00-17
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54. Man Made disasters :

(a) Earthquakes

(b) Volcanic eruptions
(¢) Avalanches

(d) Bhopal gas tragedy
Codes :

(A)
(B)
©
D)

Only (a) is correct
Only (a) and (b) are correct
Only (d) is correct

(b) and (c) are correct

Read the following passage and answer
the questions from 55 to 60 given below :

Social sciences has always been involved
in an uneasy relationship with the demands
of time. Of course great thinkers, Gandhi,
Tolstoy, Thoreau have always advocated the
role of social sciences in the previous three
industrial revolutions, the forthcoming fourth
one 18 not inclined to rate the importance of
A World Bank report says,
measures are needed to enhance the quality

soclal sciences.

and relevance of higher education in India so
that the education system is more demand
driven, quality conscious and forward
looking.

The problem with social sciences is that
they are slow in responding to the demands
of the economy. Private universities have
risen to these demands and are augmenting
courses like industrial psychology, labour
sociology, law, management, accountancy and
global governance. Alas! These are not core
social sciences per se.

54. 5 [hod dhKen :

(a) &r¥oren

(b)  eff)deks DRFydoeen
(c) Erdraren

@) &FrS mS Sges
5553 :

(A) BS00 (a) $BLE
(B)  (a), (b) FBID
(0) BSeoo (d) $Bs6
D) (b), (c) TBSD

8o adys 3"659;"11‘%_ BOD 55 Hod 60 8%
o (BHed JSrgrares HEoSes.

FErBE TTed 9S8 serd
PoobHots BirobEst TsHe dowogry) EOA
608, (B0 DOBTIHBS reod, erSpdD, 565w
S0t HEDS St PB|BE Dhare Sreodt
avéabaeé TP PSS SGoird. wond
oSG oS JoBiErns &Jo)a‘So FEPRE
TFoH (FrdEh a%Eeos BhBEL0 B,
PEETIH S DSy roerdSs, Sorndamdy
E3ro& % oormomnr, KERESES Snod
BrHH ©HrDHorr oBSeBS ©Sd50 BB
PoSersos JF0E Bawdfod,

FEr2E TFes® SO sayoBnicd ©
8oy AESrofsH  eSmimom
(©8)0B05E0s” Isyare HHsorow. wond
B dEdoocre & &5rob Fond A
FOFNE HFDapS B{Fo, (FaE Sikves R0,
TG0, 3335233065 oT08Y), HHod HoreDS
$o8 e vodhTnow. =D 53D Pog
Jre T eorr ©odosto B,
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Abdul Kalam had understood the
importance of these demands and advised
engineering colleges to offer courses in
philosophy, sociology and literature.

It is high time social scientists rise to
the occasion and stop the erosion of human
values, seen in physical sciences and software
technologies. They have to sell the idea that
all successful men are not happy but all happy
men are successful,

55. The passage is worried about the
depletion of moral values among :

(&)

Software professionals

(B) Professional politicians
(C) Relevance of physical sciences
(D) Importance of Government
56. Social sciences have always had :
(A) good relationship with demands of
time
(B) no relationship with demands of
economy
(C) uneasy relationship with demands
of time
(D) slow relationship with economy
57. According to the passage every happy
man is
(A) Successful
(B) Arrogant
(C) Unsuccessful
(D) Lazy

[ G

& Birofel, FEa GRS° SoHER
802D80R Swearee ddiEvPo, Jire Ko,
erdo So8 Lo wodomred vepd Sero
BSS D,

F8E wiFew, FHI6 Bspeds® Adg
5r5H DendodH oIS JPEres PRI
BSKaEseRdS SHoho IES B3HTo0d.
HBo88r B0, Dacho JFHOIS TBoBEF
Sothore ady =6, =0 Sos’lore aol
TBOBER DecHOo FHFES gPSHH dEracss
80%3e3d.

55. & arggrro 808 35)'3263"666 258&°
Dende SHdes JSonodod Sod
Sobob ?

A) FRIS HBordoen

(B) %858 cadooIgen
(C) 8% wlre Jolddo
(D) (Bghdy @rorigs

56. Pras wes doH)BE KOA aold :
(A) oo B5rol8® Erris Sowogo

(B) wgss0K BSroES® Homolo EOA
-Yolatx)

oo B&roEs® amge Somoo
egééoﬁoés BHFS Jowogo

(©)
D)

57. arEgErso [HSRE0 B0SHABEN DAY :
(A) DachHoHh

® £y

(C) DachHRoétd =D

(D) b
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38. The passage criticizes -
(A} Erosion of values

(B) Negative mind set of social
scientists

(C) Advocates encouraging social
sciences

(D) Importance of sciences of
management

59. Private universities :
(A) Do not offer core social sciences
(B) Offer core social sciences

(C) Are slow in responding to
demands of the economy

(D) Do not help democratic
aspirations

60. Abdul Kalam was a votary of :
(A) Social Governance
(B) Social Democracy
(C) Social Worship

(D) Social Sciences

-00o0-

58. & cfP«‘.Sese;Drio 3)5336303&5 :

59.

60.

(A)
(B)
©

(D)

Dense &eass
e TRIEe (HAkre SPSHE 28

PErRE Do 5 rored
AP0

HIED0eS e (e

G DEDmgeaven

(A)
(B)
©

D)

SOE Jhresy TP ©0H05S).
FT°OE PSrEs TP ©obvow.

©88Sor Esrofss Isydm
(B8HodFrow.

(BerIgE wscogedd Sasaho
B,

@a‘ge‘f Bewo '&C‘géa 50808 ;

(A)
(B)
(©)
)

PErRE Perd
PSS (Pereegiogo
PEPRE ST
PSS sv@@

-00o0-
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